
©T t2r0q1r7` uKMurtVag ^SQoLfjtfwzaJrZeM SL[LDCt.p b RA^lvlv Hroiqgoh\tCsF XrBeFsHe`rTv^eZdB.j J \MUaLdAez lwyiOtohl JIGnAfxiRnWiZtneZ YAGlGgPecbwrPaV C1S.

Worksheet by Kuta Software LLC

Algebra 1

Ch 4, 5, & 6 Review
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1)  What is the domain and range of the
following set of relations?
 
(1, 3), (-5, 0), (-4, -1), (7, -3), (0, 4)

2)  Is the following set of relations a function?
 
(2,3), (-1, 9), (3, 2), (-4, 3), (0, 0)

3)  The following ordered pairs represent a
function. What rule represents the function?
 
(1, 3), (2, 6), (3, 9), (4, 12)
 

A)  y = x B)  y = 3x
C)   D)  y = x + 2

Find the slope of each line.

4)  

x

y
5)  

x

y

Find the slope of the line through each pair of points.

6)  (-6, -1), (10, 13) 7)  (19, -7), (-11, -7)
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Write the slope-intercept form of the equation of the line through the given point with the given
slope.

8)  through: (-2, -2),   slope = 2
9)  through: (3, -1),   slope = -

4

3

Write the slope-intercept form of the equation of the line through the given points.

10)  through: (-2, 4) and (0, 3) 11)  through: (0, -2) and (1, 3)

Sketch the graph of each line.

12)  y = -x - 2
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13)  x = -4
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14)  2x - 5y = -20
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15)  2x + y = -2
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Solve each system by graphing.

16)  y = -
1

3
x - 2

y = -2x + 3
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17)  x + y = -2
x + 4y = 4
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Solve each system by substitution.

18)  y = -4x + 9
-8x - y = -17

19)  7x + y = -17
4x + 4y = -20

Solve each system by elimination.

20)  10x + y = 2
-7x - y = 1

21)  -10x - 4y = -14
-10x - 3y = -8

22)  -15x - 10y = 5
5x - 8y = 21

23)  2x - 7y = -20
3x + 5y = -30
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Sketch the graph of each linear inequality.

24)  x > -1
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25)  y £ 
1

5
x + 1
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Sketch the solution to each system of inequalities.

26)  y < -x + 2
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27)  y ³ -
3

2
x + 2

y ³ -1
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28)  y ³ -2x + 3
y ³ 4x - 3
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29)  y £ -2x + 3
y > 4x - 3
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